Kilograms and Kilometres

1.Aand G; BandH; CandF, DandE
2 3,020 m; 3,200 m: 3,500 m

3. 2% km or 2.5 km
4. The statement is incorrect. Half of 7,000 m is 4,500 m. This is equalto 4% km. The

correct statement is below.

5. Sean is incorrect. Half a kilometre is equalto 500 metres. 5,750 - 500 = 5,250 metres. So
Seanran 5,250 metres. Thisis not equalto 5 ; km (5,500 m).

6. Various answers, for example:

1,500 Mm+2000m+3km=646500mor 6% km

3km+2% km + 1,500 m = 7,000 mor 7 km

3km+2% km + 750 m = 6,250 m
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